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ERAmE

ions Public Exam Questions
Exam-type Questio 9 4 4
g HKDSE 2()\2 (D Q m base ABCD., 1. In the figure. ABCD is a trapezium with ZABC = 90° and AB // DC. E is a point lying on BC such
( Slmﬂar © {hat the volume of the 5 c that ZA4ED = 90°.
1. — gQe. It is given tnd
BC = £BAD D = 5cm. »
where if\() o, AD = 6 i, B¢ =9cmand C )
pnsm rism. 7em 3
(a) Find the height CH of the P . (2 marks) 1
{otal surface area of the P“S G 4
3 ) Find the QlS . 5
—— Similar to HKDSE 20\4 (H) AB=AE,
» 2. \pree T LEAB= BCD = ZCDE= o ' £ ‘
BC= ch= DE 80ma CDE. %0 - (4 mar s) A (a) Prove that AABE ~ AECD. [AAA] (2 marks)
; '; U Bl Find the area of pentagon AB (b) Ttis given that 48 — 1Sem, AE — 25cm and CE — 36.¢m.
3 3 5 ol () Find the length of CD. 48cm
(i) Find the area of AADE. 750 e’
- ‘ __ (((Modified from HKDSE 2018) )
) o 5 G (@) ‘%HH = . wy K ABRIACHRE, A8 L = s - e AC =25
mﬁﬁ%ﬁ%ﬁ&gﬁrﬂ* = (b) UﬂBEABE”AECD @ (b) B AABC ~ ADAC. [ = B ABCD g5 :Cffn;% thzo;n;g&ﬂ)_]zm
o RN AT =dem, ¢ ay- B
s, ol £BAC=90% i o o E= 6oy =p —H
g ko L I = =\ oot — s — SR E (S S B
ﬂ\ BC 4 M@ﬁ»ﬂmm Fo ) 5 4 = R + ABCD b EJE = A =
0 R s St mgﬂ@mm@,ﬁ‘, S-S Es“#ﬁ’ A5 E (Public Exam Questions) @ Rl l (§/%EFIL%I ~rE 4)
em? () U AABC=AAEC. (A __,_ A e =
P i) . * BE A
&) & 6 57\) Wgﬁ <,‘;,] ) {EigJé??;{‘g;*;TAizi;i 15¢ il\\\ EEQLE.:’:
s 4ey =t E Sy ESan € 645 TR R ERE,
PR 15k e B2 12 5% R 7 (Sample campe Mascn s,
- - 71):900
# :D;mc - Question and Suggested carp, PP ppe, " , 5. LB, ACDE R— (AT, JUT ZEAB = ZBCD= 90F, s r
1 2 AED < Ecp 2 AE=32cm K CD=45¢cm, BHE AC {2, fli
pC i ZACB I = = =rH ZEpC A4 > e =
mﬁ”t/ﬁﬁ“a o [ = £BCE SOIUtlon) 2 §U$F*ﬁﬂg%ﬁﬁéﬂ& <4EB+900:<ED£+<ECD t %"ﬁlglu AB=24cm F BC=60cm, jfpduti: il s ocis 2018 % 55 13 4 B
LBl = 2ABI=30° B £ACI= o 5 Pt <Bag, <AEB:<E])CJ+90° LERERAR N AABE B @ ——— P—
L BT ) HEBR4AER TR ER, g SO e oo | sEco Y, S (i : mwspeom 201845 51338 — i
= 180° (& WA E= g ! , N 47 - " ABC T~y ' 7 =3ve ’
LABC)rLBACJrLAC; 180° ey 900:9oofD+<CED S ﬁ?ﬂ@éo S TR g GBS BD =32 cm JZ C[)éf@f. A8 =24 cm, AD =40 e, (§/§EP§3Z % 201 )
(300+300)+900+24B = o ‘ <Bape ., <Ckp ®) () KABDE MR 1500 em’ A Som em, M o=
22BCT =3 v @© o ddsg D (i) TN B YL DE 2 M CBERRD R 35 em, 0 B sy
/BCI=15 ® o 4, <0 Rl bl B2 WRRIRIE % . T ;P
e FALCD i Adq @ C. SSem.
1 AINC v ® 2y ey , i ®) 60cm,
IN i = - =k =] 6. LR B T,
can ZICN =% - D [y PRy %EEW*E (Exam Tips) f&fiz P——— P — i)
: P — - cp? : : P EWEHRESCR 201745 BB 19
% =B Vi 4R TS EIE . (= j
tan15° =70 . i e - ~6%cmy I 2 : [T
= ran TS o Z @ =ATE R0 B = 8em c 12 ; -ﬁggj;,AB:AEﬁéBAE CBCD - /g:pm;zg 2016
- o RCECY " 5 J G = ZCDE
_1sRom CEHEEZE ﬁﬂﬂﬁﬂ"]:f%%%ﬂﬁ, \ D) 13. B S B . me DE=16cm, RF e ABCDE%L&JFH
14 AABC BN Bl: IM=IN Lor = 5 W y . & TR o
& : =N, 7. fElld, DR BC LI ,‘,.ﬁ‘&fiADLBCq K] ¢ g n’,
M= IN 5 AB=65cm, AC=156cm } BC =169 cm > ; SR S92 o’
S R 3 i cm?,
=188om (gt =0 SR AABD WJRFE . MBS Tl 0 2016 % 5 16 44 D 242,
@ 150 cm
3 g T AR 8. dchiom BT ¢
‘ ’ al. C. 165cm l
%%ﬂﬁﬁ%ﬁg . 4 D. 169cm /%EP'&%I/% 201 ' 4
sk, XB 1 LABC ﬂJﬁHﬁ T
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SR B

B& "hneghk , ERFHEEE
1 BB E = Exam
orner ’ * =
XEfEER B — g
~> S s, E sﬁ x% i
VD VL] —
s 5 AR TR
I A 5
nﬁ% I BaAE: = i
E 9/ 'H‘?‘ L E I ;": -it ,, - ! Measures, Shape and Space
scievs, @i A T AR | o
=y
Eﬁb A [ Ul ER-\ B J g 3 y i | ’ ) ,EE H KDSE = i ] 5! :}?;Jlt;dcngcﬂl spheres of radius 3 ¢m arc
%E ﬁ*’ ¢ yL\"J" i & 1 7 = ' hei lb 33‘“ 1cc8st into a circular cone ; g T?ﬁo of the vol . -;-% L
)b B R T RTSAHE | SR TR AR
R 2.3 m, HEfEE BT B — ; B. 127 cm? the ratio of their corresponding I Multi o - L =1
(@) REAT 9T 0 o e A ® 1:3 el iple Choi g I5iEiEE
T 19 PR R ) - i Ce Questi 1=
= : —_— s E . 225m< MR 6. Inthe] S1MI 4 I ions
mr ors in Measurement. © Y (b) AT HAR B p Sm < FURIE < 2:85m circula = lar to HKDSE 2013 (II) Q17 wf;r;]h:?g“’f‘ VABCD is g 1
. rnm HIZy 3 E 0. VR RBE NI RIER TR/ common base ofi:di;bg:mﬂc T "’“ersejgga“‘ base. £ig ¢ ;er;gh't Pyramid
o o NEIpE % AE/INA 74 cm ﬁ'lﬂ’g‘ﬂ ) the solid is 14 5 8 o ‘Lhe height of aD :; nof 4C ang oint of 3. Give
See o Rl 0 S X 4 om. Find the t i 10. T . 3em : BD 1 s of ven that the
Tind the lower limit and the upper Jimit of the 21, FIEE—IE A44 . EGIRESAN area of the solid. heitotalisutface L‘;L‘L‘e figure, ABCD is @ frust volume oﬁ:: . T/E = Wem, Fﬁ,il"cn that 187 e, ﬁmlj H volume of 4 b £ =
R Ad BV )E 2. A B G HE TS EdioT / Pyram the It 3 its cu isphere | m =
Example actual arca i ; Vi FNERJE 535l 5% 297 mm Al 210 1767 em? renlas cone. Tl C:Adu of the u @ 30w’ id. ! Au I decimal piage ved surface areq 01:’& is y ik 1 Eit
S ’ ( . a) REZ Ad ALY LR . . ) mm ., T IRIET 2087 en’ T g 5t reZemand 4 B 4s5eme - S0emt e ? N . ﬁg z
LEVEL2 Similar to HKDSE 2014 (U) QH ® KA HEREA TR LR, FE=295mn Lf B mm,  (-ES C. 2447 e’ 14em volu,],Zlff‘;]‘e"ﬁz‘:xcmlmB is 9 C. 60em’ Ucm B 37em? %E = }I_‘/Z\\ Fﬁg_t
Mrs Ma wants to measure the dese=s v - 2 A4 ALY TR R T Y T R |- R - . 8 =297.5 mm D. 3367 em? l A Gmont g D. 9yt © 5650m? FH a¥ %Iﬁ o
width of the desk top are measured as 124.2 cm and 65.2 cm respectivelys © k% Ad AR ECTETTREAO M FRe FBR=209.5mm, LMR=2105m 7. 1o the fi B. 247 em’ d ) " D. 848cm? - o ﬁﬂ :ﬁ
: g . : 210,51 5 ) > g
and the scale interval of the measurng toolis 0.1 cm. = g, -l LI 62 116.75 mm? < FLHETTH nm i lllil}]);?h:lml:(fE;Zd- EFGH are two © 427 em’ 2 The figure g, Sam 4. % I YE%& (EY A Worksh
. - e ' P e ‘ < LT < 62 623.75 mm® 1r A BEBS aStraight line: D. 487 om’ 1 Of curoad « [OWS a solid righy c :—; e
(a) Find the lower limit and the uppet limit of the actual lengtht of the ( 4 I~ JEHTRR A M B IRIE. DU RIS m A5 o ﬁ“d]:h:i:riaoif‘[:ﬁfe:lgn dEF o111 72 om’ o hei;:: Vo;i;:lrface g ;515;" circular cone R ° Hkﬁ%ﬁ g ( Ch eetS)
: p : = 44 ; shaded region. . . ¢ cone, 357 e’ Fing 7 H
desk top- O A 1) " D ) 4 @) 12en the allengin .
SRR = 5 km ¢ . . ging Exer
I . G = 5 km CEMET e B. 15 solid 4 - cises
(b) Find the lower fimit and the upper limit of the actual width of the d B B R B0 = 4 1 (TR IR k) 1. An empty container in { € i5em o - TSA4ERIEEE (TSA )
FEAH = 48 WETR TS B4 inv e : and i s a spl solid ¢ = ;
desk top- 00 m (9 200 m) (e el i) e e e o « HKD type Questions)
A, . e i side 6 cm. § i 3 b same hejg e three s
(© Isit possible that {he actual area of {he desktop is 3100 om™ Explain (@) SRMIER A D0 ECHER IS MR . (B m % N e Genem :]::za':y and 9 em’ of wa ;}oug\:;,u e rcSP:clhi[»"ellf et wz;::gf; SE ﬁsﬂ% E (H KDSE-style Q
. Sy L m FR) 4500 m < AR - et ® e Blines. Find th dp Oty b ot e B -style '
‘ Explain your answer B LR O (0 m T ) SRR 08 |c mar b 2o At e ’ uestions)
0N E i} ey - e 470 < HHEE 3 s HeSicm | YL
SOlUtVOn BTN )H IP'EJ’J‘ T % i ’ . 0 m < FLREFE B < 40 8 iil::eeggure,;he lengths of the corresponding C. 2em € exgs Z
23. selar\eE - S By N L 75() e = ges of two similar pyramids D, . as. A R PR D. s>
- ! 5 y FHHEICR2018 5 5 14 8 m, PR G EE o wnd e gty T st e o ol s 0 1000 + Son FH R S B s
Maximui absolute error =5 % 0.1cm = 0.05cm W BCDE [ IR B 1 v 145 . = ] Tateral faces of the smaller pmma,dam ofall 2 36 LEVER 4 S MBKIETT, R f
FUF = g Fhonfhetoral arcac g amid is A cm’, 636 T = P B IETORE v—z
T AABE 1 &) LEL B TE SR A 9.6 & Y . otal area of all lateral faces g A <
e 4 (e 1 A ) £ 9.6 cm Al 5.8 em larger pyramid is aces of the u
(a) Lower limit of the actual length = (124.2- 0.05) em — AR JEE L 4.1 cm. B G &8 : > A. 52000 [
=124.15m . S SLl B. $2800 1
e @) R U (2L 7 R0 30em © %3000 D % o s
T o [ R
Upper imit of the actual length = (1242 + 0.05)cm (i) E¥4IEBCDE D $5000 2, BFR-L LS A s1030
54.9125 et < ZLffE 10 em FpE A by Ly I c
~ 12425 cm . 5 em? < ELHERTRE < 56,4505 oo’ @ o RO ARSI X HLY il . . . oo
Ll — (i) AABE 1933875 cm’ < FTETH e 13,510, 15,280 o il e W ST £es = - ——
L. . e . e [ < 20.023 75 em® . i )
(b) Lower timit of the actua) width = (65.2— 0.05) cm sen (Chmes 4 e ) WED c 5 (A> 34cm’. 5. B ‘;' — 5 ii 272 fRERLL ERLE PR O i S P 3 R ——
- T p———— ; i 7 . O stom Aenr’ a=shy=2 o e
~gs.isem 2o (U : OB 2018 6 5 14H Ep—— B © eeny= S -
T, FH 5L — 144 ), D, x=68y=29 & —
Unpper limit of the actual width = (65.2+0.05)ycm U o R OLR G AB. DE ¥ CF A S / B
pp I 2.8 e, HERE 4 1 MEFMEES G 48 ED A ] )
— - | HETE 4 4T 5 4. ‘
. = 65.25 cm Gy 2 ) ALY 0.1 cm. cm. 1.6 cm 4 ‘
( ) © Exe KA A e |
| c : : o -
‘ Jstudents @ ENTE A p L6em
) ! BGH 2 e o B 4, E
Steps for solving this EYA question: @ EHF CF 2.5625 em” < ZLTEMTHE < 23.5225 cm’ .8 cm
) Find the lower limit and {he upper Jimit of the actual ared- o) CFED 42625 cm® < BLHE MY < 4.7025 cm® i 5 = 2
{thin the range of the actual area. ﬁl’?;’i;CDEFGH Y B T TR A T S Alayem. o \I - o AE R A 5
e 3N ey s - T fhA- 50 Bt
o WHE SRR % H‘ﬁ H H =10 1= 34K, (
R E 2 B . Ei15 B
- fie s 9k #=a% (Common
Mistakes) » HB)ZTIREES 4 -
EEI st { 1 style Questions
. n“nw.r”w.»,«m,.: Topic 12 Mensuration @D)
T S — {x:x‘ s o
3.45

5
) o 18 Wi
o 4 arca is 8100 o’

| @ Cheekil 810(
gt it thie acti
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3E

Bridge Programme P6 to S1 (Bilingual version) Junior Secondary Mathematics in Action 2
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es
algebra .
@, Example 5 algebrai unknown
. ¢ symbol — 2l
Bridge Pro 0 P equation iz
=

o] 7 el R B M A R 3 - B A TR

Solve 5(z—-7)=40.

algebraic expression % .
M It EEEN AR S\

gy P BEREST  ERMUAIERRE Nt {#% QR Code 12 ERHINEE

bilingual version (#

5(z—=7) =40
h of the foliowing are

Junior [Sezondary Junior [Secondary %ﬁ E% *E H‘& (z-7)_40 . algebraic ex :
—a— <« Divide both sides of the equation by 5. Set up an equagion - “E\M? S =
M ath i M ath i 2P 1T AL S oMy, g ?
E e.m at’ CS 3 e.mat’ cs z-7=8 ‘EX;[J{\eis‘the total areg of tgﬁ‘g;f“\“ | iz i 19552
Junior fg in A x o I n A 4 - 2-T+7=8+7 < Add 710 hoth sides of the equation The number em o e 10 teTms of . VIR -
i Gtion ction z=15 HAR AT L 7 - = cquals half the product of  gng o

Mathematics

in I
AC tion- C. Application of Equations Ff2fREFR

Steps of setting up an equation to solve a problem:

T ITREAE R R PR -

1

ik oo iR

Identify the unknown in the problem.

Represent the unknown by a letter.

Set up an equation based on the given information.
Solve the equation.

Write down the answer to the problem.

Example 6

fais
L e R R AREY -
2. FFRRFEAN -

3. BT R -
4. BETIRE o
5. FIHIREREEXK -

2 .
There are y passengers on a bus. After z of them get off, 33 passengers remain on the bus. Set up

an equation to represent the situation.

Bt bRy #RE - HF % TEAg - H REARE 33 f - A —(ETRER R

HAE8KRE

BingEd Arithmetic Operations
NIRRT E Decimals and Fractions
ELUE Approximations

Bl‘idge P e X = . . )
” = 'rogramme 3 4 . P ERKEHE S5 Basic Algebra and Simple Equations
blngual vesion L Eng.’,Sh Usage Qoun'NCk T-Utor,a’ = ‘raction ofpassengersremained*lfZ %T%gﬁﬁfﬁﬂ’ﬂﬁﬁ*l*z Eﬁ}ﬁ Percentages

P61oS7 P In Math Lessons ew Primary Topics @ ) e S B B 7o R Shape and Space

Materials for transitiongf Pperiod

y
" . .3
‘+he required equation is e y=33.

22

L BRI 2y=3 -

© Pearson Education Asia Limited 2020

AR - miEMeERE Perimeters, Areas and Volumes
HRRIE Data Handling

(o]



Jonor Secondary
EEE AR B
S HA B} A =2 £
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: SIS SRREA RE
JJ AR =
2. Arithmetic Operations ORI {ﬁﬁ QR code = I = I R I K %&
R EASHINE TEHKS2 M s RRERIKS?2 BAT
addiplus m ;E 1#55 i= %) Be 1] K i HYEL RIS 4
| sum L
- i divi 3 =] L— == {jtt%
TS m i oo EE :,-l;fz"acummus 5 ivisor | ﬁ’ii I_~E = ™ ﬁl_] u
% ge Tence 2 1
i Multiply/i ! l CE— | 7
Junior Secondary Mathematic o fci' imes ;E 3 quotient English Usage Mathepmay,
" s 1 ics 1,
Engllsh Usage english Usage 0 Mathematics Lessons — divide Iy 4 1 3 P divi dend essons e .
b A B 7 5 R ]
. > %@ i divideng g Bl
in Math Lessons Conversations I aLesson B tution divisor p?ﬂ 1 2 t ;fbroken graph ca " Secondar, Mathemgcs . KS2 g L
B. stion about the solul i e | T g e N shoy S in Actjon KS2 = BT ﬁ:- 4& 18 f
Do you have any que Quotient Rl Sy i at. %EFW@% .
R in this example? m F EERS 7 "omainder 88 1 € remaing DI
AT 55 (AR A RIS - equals/is equal ¢ i {
A A ﬁy\ﬂ’ﬂkfpﬁ il o jrz\ | e W”ftEn Enghs @ 3r 8 ey E A
v fce ¢ , e [w ] , e 1
AN . s s‘epz nthe ) is divisible by, _ éfé - Prime numbers: 3,3, 5, il RN I (PIQIRIS) R umer :
— tandi | i ) ‘
(v aicuy uns:;a.an again? o =0 Composite numbers: 4, , 5, o, ¥ Common gy, E.: ) MRS 7 (PIQIRIS) : 1 :
\ o i r . B25S i 4
| souton e b ﬂ\njuﬁféﬁ% mRoste number gy *Matical Phygsg . e 0 em : |
SR R J~ & e " | amange . ) R 7 | - WE :
\~~ — ! . H !
J :;S’cendmg Order/qes, ~ i g i
iy o ¥aliate ®) : P 3
Complete 0. @ N | AERBESARMETRA N AT - PR R SRR -
Consffuct/d,a Lo siesses S
convery 1. SETE-
dete,
Worksheet? "Mine whegh,
hed the Lesson explaj e - 5 @
ﬁ Have YOUE;‘?D;:;] R4S ? Fain ) rEE—E (R / LY
RS - =) .
N - — g f@%f‘{@ (.:‘j’@ﬁg = . ﬂﬂ}ﬁy%%ﬂ
— n to answer. : i ] o - @) WS
o ve 6 one more questlo mrigy (L.CM. ) 4.2 = {ETERERD 0
(1ene o 2 il 16 f3ENAHS 0 4 TR g - : ) WHEALREE ?
ﬁé’%”@g S 2 free - I e S
\\\\ e \ / 2 RO RIRAE - (D
@ ® kR EREIY - ;
o s PV S ﬂ 3
v
) |
e @ L - EA i
: en a *land gxpro——- A i 3 :
& Gould anyone explain the difference betwe o : Nd express the s |
udent cla |
a A nd a rectangle? 2 i aims hatr © @ 3 |
s Z‘\fg;asaaﬂﬁ;ﬁ/%ﬂ@ﬂ/m%m ar;:':,'ble 5% 3. Do g, a';i: u;n beris @@ : :
AR - (] e i
v - 4 Com Ir Explain Yyour [ AT :
— e bul 5 (ecta\’\g‘e may ot Plete the fol/ow,,,g o | TAE A i i
7 thave four eq"‘a S ides only. B
( Asquafe s al opposite S L G 1
It has equ W ort 359 % | -
| nave f"m: ::?m‘:;;\s%mﬁ A AR f answey, % into, Taction 5 and Simpiiey g, 10. 0/ 10
Envatid _ ify the - 40
| = gﬂg I e rson Education Asia Limited 2020 !E 35 1L 8 - ___—
R 3 ere 10 ’ o A AT
- © Pearsg, ) s | _— — —_——
" Hucation . limiteq 35,4 s T




BEAH

Number
and
Algebra

S0 mRn

1 | mEEH 15| BEEGATA
Four Arithmetic Operations Measuring Units and Tools
o | fEBURR/ VA 16| BR=ERAER
Multiples and L.C.M. Types of Angles and Triangles
3 | EBRRA AR 17| DERE0ER]
Factors and H.C.F. Types of Quadrilaterals
2 (—) ER % ILESAVAER!
4 Fractions (I) Ad/dition ;md Subtraction E! > 18 Types ;f Solids
5| A% 0O) AR L2 S PIET
Fractions (11) Multiplication and Division :l:FBﬁ Perimeters
6| 1B DR 20 () EBHARTT
Decimals (1) Addition and Subtraction Measures, Areas (I) Squares and Rectangles
7| 28 TR R % 32.?5" 01| B (D) FATINER « = SRS
Decimals (ll) Multiplication and Division Space Areas (Il) Parallelograms, Triangles and Trapeziums
g | FELUE | 20| B
Approximate Values Circumferences of Circles
g | BRE () EHMEANY / NBEL o3| E/ERETSIEMIETE
Percentages (1) Conversion between Percentages and Fractions / Decimals Volumes of Cubes and Cuboids
10| BRE (D) BREDUARIE 04| ER
Percentages (lI) Problems related to Percentages Speed
11| BHEE BREMEM / WHHRE o5 | HITE
Percentages (ll) Problems related to Percentage Increase / Decrease Axial Symmetry
12| KBS B 0| EE
Elementary Algebra HIERIE Bar Charts
13| 7% &) AR o7 | iRE
Equations (1) Solving Simple Equations Data Broken Line Graphs
14| 7 () RS RIESRAIT5 T2 Handling |, | 158
Equations (1) Solving Equations Containing Brackets Averages

Mathematics
ijAction= |

fZGEREEIRE Quick Tutorial on New Primary Topics

£55212 4 PPT 35 -
BT

Mathematics
I eJr

NEw Primary Topic
0 Pie Charts

@rears n daily life, statisticaj gig

1 broken ling
graph
Present datq. PHe and p

Quick Tutorial

on New Primary Topics

(9 Cuick Tutoria

Materials for transitional period

[N
grams like par Charts,
Ie charts gre used to '

at.
ie chart, we can see th . .
- s = = bv.‘e:c“ Let’: -c‘g’:;(;e going to introduce pie chart;
Pm::;ber T ) er the following example. s.
-

, DT

R/ 2REEENZEER

B DT

Bl TRl HE L

Uit Jﬁff‘el‘*"ﬁf\m 7 B ’
E ; a | r}Fl % ﬁ” EE E IR E S © 3 e o
. : A s I SR gy 3 i o

PSR\ s ey, SR B

ﬁhﬁﬁﬁfﬁﬁﬁ%ﬁﬁ’ﬂﬁ%} J

i U224 Microsoft Excely o T ~

e B
¥ Lo AR - gy iz
BN 5?%%@5@2‘%@7}2@1 =

B2 o
B3 g

55

“PRETATE S g gy
~‘J§§z{; i USRS Ty .

2 Ffi &
hﬂ'HfléW;(EMﬂ%ﬂﬂﬁiWE5@%{\5[79&‘57@’1 TR
TR

TARK S g Hvsasg :

e
1

HOAE R - 4
= REE R .
e © BESEIE it 2000

IR ik T

SRR R, FURIELL 5 ]

FaEATELLE = 360

= 360°

Prea L -
e - EREREKRMEHNERAEEFM
BN E S (Use Short Division to
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HARHERETEHIRRASERL  RABERED -
A RAFEREEER

HEERR MRS ESEFESHEmELE
: A S BB E T
LX-E jE ﬁ? ﬂ % Hj (b) Suppose he gains 60 marks in the next question.

% %a E %E*u E I_‘I_T ﬁZ'J:ELE' (i) The marks to be gained EGO) are greater than TE ﬁ % i E’\J Eﬁ%ﬁgiﬁ ‘lﬁ-\lé jj *u %Eg 'k%ﬁﬁﬁﬁ-&\ ﬁﬁ
the marks that he has lost (50). 4 e

HkEiRE (Challenging Questions)

VI R SR TAT Pk e ~ ~ P .. The final score becomes above 0. bl [ 7
R T / —30 marks marks y -
= E E g iﬁ Ej] m T [ FAn] LAEAR—RHLAT 0 30k omark (ii) Ben has (60 — 50) marks above 0 marks. *'* Challenging Qu
== E\' E T, ACE F1 FCB R - 6-4 Tt . Final score =50+ 60 = +10 ‘ot lines. AD is @
ﬁ : AT ] (7 . F are straig .
: Zoae5. 2ncp =5 n . Bk o PRI L o g, BDC,APD 18 CEF s SEET
e e (i) 2x+3x=5x (i) 6y—4y=2y : 6. 4BC; CFisa median > find the area of
ZFCE = 80°, AB 2 71T CD? = = ’ . median of & Cis ) em’s find
) ) ) . N e Y BT Y 3. The present score of Candy is —50. Suppose she loses 30 marks in - if the area of AABC
Consider the following two triangles ABC and XYZ. R IR RS N PR 5_s - = & the next question. of ACFD.
—6+4 =, a - J ADEF. ‘ .
4 - 2$ /\ /—\ a + ‘ = 2‘ T 4 \ - (i) She has lost 50 marks, and she further loses €
: (i) —6x+4x =—2x (i) 2y—5y=-73y h - . 30 marks in the next question.
A f# | » .. The final score remains below 0. 4 BDC
B G + ZBCD + /DCE+ /FCE=180° (M RHOMHA) S o marle (i) Candy has (50 30) marks below 0 marks. 0is the circumeentee of A B 40D and BDC ‘
65°+ 2DCE +80° = 180° . Final score =~50 — 30 = 80 2. Inthe figure. 77 is the perpen i - o
‘ rotatc AXYZ - = iﬂﬂ u = .’E _iobe Jines. OD 18 Th!nk aﬂC! Lea[’! B octeation B
¥4 ’
A s =35° }J é E"Jm =] il i
N i B *, $ ] Movement of ‘Horse’ on Chinese chess board
% ' -+ ZDCE=ZBAE T RhES -1 E BB I < ACHNEE TAE
| i - ) = E_}J £z E E’Ca‘;ﬁ %_Qq_*ﬂi A 5 ¢ Chinese chess is played on a board with 10 horizontal lines and
o - ABICD (R 4%) / - Lea rn) 5 E}J Fiigﬁ}ﬁ& @*ﬁ ol e, AL e ape i G A P oY irseeGHer
B c z Y %\I H,,i ;E 1 r‘I%‘l 3 E iﬂ = a C O m m O n % =% 32 vertical and the horizontal lines. Each kind of pieces has its own rule of
- - 5 7 N o - . 7 s b =] ﬂk ( =% s — movement. I this “Think and Lear’, we il discuss the moverent of
g e 6 (iR o A TFLS A A B0 R N, 0 2+ 1+ : [ MR fE—pjomimos | Hx
= NESRRTAIN 5 < . ] H E A *Horse’ moves from one point diagonally to another point in any
2£ACB ;;CF (EHIEE) " \ 4y + x— 2}70 g/ﬂ:ﬁﬁfé%fh%ﬁ 5 &,ﬂ'ﬂi 23}{%?‘;? EF' E/‘] lﬁ% E ‘%ﬂ%ﬁ#@ : M |Sta keS) ﬁ E}J % Eﬂi *EEI == *u ﬁﬁmﬁ m*ﬂi.e; E"J .lﬁ-\b ‘1 x 2 rectangle. This mov;:nen( is jﬁen d)escribed as ber:ing[hke the
= " 7 =2 1 E hinese character *[1°. The following are some possible movements of
“Horse’.
ZBACH £ACD = 35° +(80° + 65°) ) ) )
- 150 2%+ 1 FX =2X%x+1 AR > T, R EM A, %l =5 SR BT Y
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Find a: b: ¢ in each of the following. (1 — 3)

1. a:b=2:7and h:c=7:4

2. a:b=4:3 and u:c=4:5

a: b = 28 € )
= (0 Jis (

a: b c=():():(

3. a:c¢=1:7and ¢:h=7:2

aa X il RE 2 ]
MARERE 58
R0 T RS EIHI2
REMEERE

"lﬁ g

i Fo R, B AL —IALL A O MR —FRsr. FIBT A1 AR L & R, IR

ER.
(a) (b) (©)
0 s il -
@ (©) ) o,
N
-
€Wt #7 oudtzits
Note that if ¢: »=7:2, then
Bre=2vy.
| §
e
1. SR ROl rhR AL,
(a) (b) o () 4
B 50m P
AMZO ‘“ - "
100 m (84 100 m R 100 m z
FHE AB M#1% BHE PO MRt B XY MBRE
=t ) ) S
( ) ( ) ( )
_ ) ! ) ! )
( ) ( ) ( )
2. (a) Wil AB. PO Al XY F&EE K SN S .
> >
(b) TEMWEEIHS, AB. PQ T XY (A, MR

() ZiERE
(i) FeA AL

SEHHAAN
Lo HR IS EEEIY, WAEEI A PTG, TR N R,

2,

(7 - (HZEH AN EFREPERGAT. )

ZRIER
EZ:72 g B

L3 4
s 6.1
wa [ Activity GED]
Properties of angle bisectors of a triangle
Tollow the steps below and answer the questions.
Step1: Draw an acute-angled triangle on a piece of paper and cut out the triangle.
P Step2: lold each angle into halves to form three angle bisectors of the triangle.
g — -~
G
B
. X
g F

n i D S

A
7 "
NETE &
) G

[I~a

] Property of isosceles triangles

L Ona picce of paper, use a ruler to draw
two equal sides AB and AC, and join
BC to form an isosceles triangle ABC
with AB = AC. Label the vertices 4, B
and C as shown below. Then cut the
triangle out.

4

JAY

Follow the steps below and answer the questions.

on the back of the triangle.

A

VA

1. Do the three angle bisectors of the acute-angled triangle
intersect at one point?

Repeat Step | and Step 2 with a right-angled triangle and an obtuse-angled triangle.

= | ] X

2. Do the three angle bisectors of the right-angled triangle intersect at one point?

ié Demo @3 Fooint?
[o] fsi + point?

IL.  Flip the triangle over. Then label cach
vertex again with the same letter marked

$= 2

@

vericalange A7  base GUE  baseangle LA

amp[e Find unknown angle and sides in similar triangles

In the figure, AABC ~ AXYZ. Find x, y and z.

A
2 i ¥
B 7 €
Solution

. il o ndnts ok
AABC ~AXYZ
LX= LA (corr. £s, ~ As amp[em Find unknown angle in similar triangle:

x=106°

In the figure, S'is a point lying on PR and
" APQR ~ ASTP. Find ZPTS.

FRBE > FARY
miE=&Ek

Solution
APQR ~ ASTP
ZTPS = ZQRP (corr. £s. ~ As)
= 64°
In ASTP,

ZPTS+ ZTPS +56° = 180° (£Lsu
ZPTS +64° +56° = 180°
£PTS = 60°

Find V'w.
|
BT —HERY |
— > Solution
ﬁiﬂﬁl: % ﬂ:; AVIVZ ~ AVXY
YW Wz .
T wr (corr. sides, ~ As)
W s
YW+3 12

1200 = 8(VIV+3)

L2V =8VW+24

4aVW=24
Yw=6

Quick Practice 8.3

EENME=AN

In the figure, W and Z are points lying on
XV and YV respectively. AVWZ ~AVXY.

€Wt o gandents

Draw A VXYand A VIWZ
separalely.

Note that WXis not a side o
AVXY and it is wrong to write
w_wz

wx XY

[E-REFEARVER AR E
AENBREEE @ BHBLITEARES

— it it

Exercise ‘ Z’

Solve the following equations. (1 —9)
1. x+6=-11 2.
4. —4h=-28 5.

1 3
7. Zq =5 8.

R L EFANEEE

~Example 4.1

y—8=-5

=8

LS

Solve the following equations. (10 — 18)

10, 3x—13=25 11.
13, 2u—4=-18 14.
16. —6=—-18+2p 17.

Sy—6=14

6b+15=-3

Solve the following equations. (19 — 33)

19. ~Fxample 4.3(a) 20.
_ s
2 "%g 23,

Ly
25. 2(e+2)=6 26.

8. Z4+7-4 29.
3

7
31 5{47 4 32.

Solve the following equations. (34 — 39)

a 12
34, e 35.
37. 2x—32=48 38.

Solve the following equations. (40 — 51)
3v+4
iz )

40. 3

4t
. Zei=g “.
6. ——-1=7 47.

50.

5,0 _3
24

08+3x=14

21.

24.

27.

30.

33.

42.

48.

51.

Ta=-84
»
=5
3y
-2=6
17=4z-3
—9=35¢c+11
-7=9-84
m+3
L
“-8_,
17
=3 - =27
§+2:—1
1-l=4
=
2.6 1
3 2 6
1.2-04z=2
6-2:
) =2
6~ =4
i T
3(47n)72:
5
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a Triangle

grPCs;

o8 TR
N - LB

W% NMIA Book 2A

yan
In 5ABD. (£ sum of &)

' Et 7 AE;%%* . (@) D+ ABD =187
1 E ; n a e Angles Of a Tnang(e Q .+ 56° .mr‘ ;v
e- BOOk . Angle Sum of a Triangle In ACDE. - (£ sumof &)
y+x+ ZDEC= ¥

m of all the intenof

(A] Revision on

the sut v
ter 5, we have learnt that e 30+ 40" = 180

5k 1A Chap!
In Book | y = 106°

ol is 180°
angles of a triangle s 1

combioe the o
, | =
/\ a Quick practice —
\ 1 the figure. ABC and AED are s !
/ . Find xand ¥
y re
To Learn MO
-dr—ohm-dt

ngles of a triange can be f

FERRIAZEE @ 52
EfNEfaAAPEEME

— behind the
B3 £ Raen ot e e o s
; m Book 1A Chapter 5. we find thal In fact, the PrOPerty of the ang!
. 3 In Boo Je. In fact, ¥

 the following figures. (1 =3 — + a ruler 10 form a straight 308
nd x in cach of ¥ 9 [Pl agains! tical way
' 7 D {0 be cxplained in a mathema Y

N o i /// he figre. Construct a line 40 s ,

S .3 Y 2 (‘,“...kr:‘_m(_ml 5 2 o B e ¢ (1) S| 0

parallel to CB. So we b e e iile
Ay L8

/ ~
/ : BAD=b Wl s CRIAD)
- : int. 25, CBUAD)

LBCA+ £CAD = 1W°
pCA+ LCAB BAD = 180°
) crarh=180°

= 180"

@' a1) 1 '
- 180
e C is cqual 10
| ‘ he sum of all the inteniof angles of AAB
i Thus, ¢

In the figure, AED and BC D arc stra
lines. Find X and ¥

A

Follow-up Questions

1. In the figure, ADC is a straight line.

A
Determine whether AABC is an ‘.
isosceles triangle.
O\D
PA

B
In AABD,
~BAD +50° + 75° = 180° (.~ sum of A)
BAD = 55°
In AABC,
“© ZBAC= /BCA

.. AB=BC (sides opp.equal ~s)
i.e. AABC is an isosceles triangle.

iH2TH

iTeaching Tool

v Volume and Surface Area

V=123.48n units®
B=17.64n units?
CA. =58.8m units?

S.A. = 156.88 units?
LA = 11358 units?

V=101.036 units®
B8=43.3 units?

Scale Factor:

Scale Factor: E] >

P A B A @

C

BB A AR IR A P
TERBTRUE - 4 {EPRAEEAERE AT

B £

BLERASEEERAZTRITEN T, GH 4 EFEENRE

4l = $(89.9 + 127 + 173 + 155)
~ $(90 + 130 + 170 + 160) -

=$550 =
ﬁggﬁgg%@xg @
SBETE-iT - -
(<> ]

- B S EENE R B R

TEf R & RERRE » &b
R R B
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Concept & Demo Video

direction of view

1 GH and HE to obtain the top of the cube.
GH FIHE BB » B5eRL T IESEVIRED.

Exterior Angle of a Triangle

Whatis Z/A+ 2B? ZA+ 2B= ~ZACD

A

SEEFIE litd
A [F R EERER E
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Diagnostic Assessment
TREH - RERBETRMRER -

SELEE e R L B \
Smart Class E&l‘%? EE"JBE%'J ! Tﬁﬂ'*ﬁ%ﬁﬂﬂgiﬁiﬂ ! Eﬁ“%i@ﬁgqfﬂ—ﬂiggﬁﬁ E"Jiﬂ_j:jj_ 2

b

Pﬁﬁmiﬁﬁzsﬁglé A EEE: 105 208 B=AR: 6/6
RRLEENS - R .
3A01 More about Factorization of Polyno - 7. 4 1 7IRIL . <Back In-Class Exercise 4C “ SN
3A01 More about Factorization of Polynomials E EJ =] {ﬂm iﬁi ﬂ* ,A‘ E Eﬂ ;tt E& L
it H o o = o T y
Tots \ 4 =N

Factorize 2® — 8 + 12 using cross-method.

@ ol
=
The sum of all the interior angles of an n-sided polygon is
item 2
tem 3

HIRTHimSE s e
T ’Ql\{ 9 o7 A | (n—2) x 360°.
M 4= = H:EEJ x ( ) as (n+2) x 180°.
ETERRE > : / e - |
= <Back In-Class Exercise 4D
e A, \. ‘/ / (i) 2 et [N
= = = \ 2 —8z+12= -
o 5 = N N tots  @oost  m E=w
~ \ F Y J— 4V t—m 2 B
N \}:\ CREY B 1 £ — e Ll = ? %ﬁ g ight lnes. b :':m
!

EMAFR[ER] - FBET

B LB A T AR S EA BARRIERAL B FAZR 5 BB

24 MAEREE | HIFBE R
EMARNT BEBLAHE -

i@*i 1 Eﬂ?ﬁ@guﬁ“?iﬁ torization of Polynomials ‘ ' / ‘ FRESERMAEAR | A zaFG .
ﬁzEﬁEEﬁﬁi%igjéﬁ ool 1=t z ZGFH

&~ = 7 — Factorize z2 — 8 + 12 using cross-method.

—
Determine whether each of the following angles is an exterior angle of the hexagon ABCDEF.

BE -

Factorize z? — 8z + 12 using cross-method.

sssssssssssssssssss

(B&E) 2.
22 — 8z +12=

P

@ A (z-1)(z—12)

@ B.(z—2)(z—6) $ +1
® C.(z—2)(z—10)

®D.(z—3)(z—4)

OfEE: B EWER: B

58 ] EIB

: '*“ygw@w SRR TR

BETRIES 2RI
[BXR] - BESEE ' sy A
EXE ZEMNERK ‘ Bl RE

o)

il

i

I E =
N 208 1 18 =
8 s0% G
I HE = st &
Sudent 1403 o
°
4%

s RRAN ™ v i
‘YA'.‘IL"‘,fw Jhb
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Example
Video
- A o
ok Practice 4.1 { present, the sus
QV her mother was 28 years old. AtP
When Maggic was born, w? 11 years old

. qooie NO
50, How old is Maggie o

i es 1S
of their ag ¥ Video

Solve an application pmblem L
Example I emivieto o

udes $5 coins and $10 coins only.

VEL2 . Hich incl : ins in
1: purse contains 18 coms W}? c& 10. find the total value of $10 cons
1 18 ’ N 10\
‘alue of the comns ) i TS
M thetotal V‘l'ze}aching Example 415 coins and $5 coins 00 v

-1 jncludes $2 : -
coins, which includes A $2 coins in the piggy bank

98, find the total value ¢

]
Shieppes: A piggy bank contains >
\otpalu;uh\e of the coins 18 b

SO[UUO” {Ans.. §58}) ‘
Let x be the number of $10 comns.

e number of $5 coins is 18— x.

¢ given o ation Ca e expressed d lows:
pres: d as ol
The giv nformatio! an b

Then, th

Jox-+5(18 -0 = 110 E

= 0 1

10x +90— Sx=11 Total value of coins m

5 +90 =110 Total value
Sx — 20
o z(l @ Reminder — 1
e = e | value |
: 4 Note that this is NOT the answer 10 the problem. |1t we let $x biy:h:;:i:)n ©

5% = | of $10 coins, the edqua™= =
) $10 % 4 @ \ (\;e set up will contain fractions. )
£$10 comns = \ I

Total value 0 _

_ 340

men O
saeE 6 g

. EEHIEME QR Code » TJiE#EHIEEF Example Video fEERRITEE -
rm SIREEFIR LB ABENERREE -
o

Pre-Class (Example 4.15)

S R

Example Video

Watch the following video and answer the questions.

Question 1

Janice spends $79 t ulers and some pieces of eraser. The prices of a ruler and an eraser
are $5 and $6 respectively. If there are 15 pieces of rulers and erasers altogether, which of the
following equations can be used to find the value of x?

0 buy X

5(z + 15) + 62 = 79
52+ 6(15 - z) =79

: £15) =79

2+ 6 (2 +
62 +5(15—2) =79

Question 1
Janice spends $79 to buy x rulers and some pieces of eraser. The prices of a ruler and an eraser
are $5 and $6 respectively. If there are 15 pieces of rulers and erasers altogether, which of the
following equations can be used to find the value of x?

5(x+15)+6cz="179

50+6(15—x)="T79

5¢+6(z+15) =179

6z+5(15—z)="179

erAiAg IR E

Pre-Class Online Exercise

HUEERRRTIHMEME - T@E—RY!

HEITIR EyB4ER-

SR

Concept Video

Solids without uniform cross-sections

AA&e

Circular  Square  Triangular
cone py?amid pyra%nid Sphere

In fact, cones, pyramids and spheres do not have uniform cross-section.

BRL @i SRIRESRRE9INEIEE o

Cross-sections of Solids

A ENEEER
Concept
Video

RELR

Demo Video 7

T L
Math Model

C B
o D
. e ol
KBEEFENUE - EE—UEER
AR -
o

Concept of a Pr:i'._s,m,,.

o
Solid:H Prism V ~ E

Can you
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= = o N | | IS
=/ ] <Back In-Class Exercise 4A
=2
n/ n m Model Answers Result
i t
H H jagnostic Assessmen
Diagnostic Assessment S
-
In the figure, ACD is a straight line. it < Back // Last Attempt -
ttem 2
B R
< Demo Class Junior Secondary Mathematics in Action 2A - Angles related to Rectilinear Figures 0 Q Q A } Item 3 Assessment
e ltem 4 —_—
em 5 student 11;10
e Secandary 34 pm
. 16th Jan 2020 18:34 P
Mathematics ! "
in f\ction : ’ Sehi iRt
o= » STRRRRE SRS
I = > Junior y icsin Action > 22 Demo Class > Junior Secondary Mathematics in Action 2A - Angles related to Rectilinear Figures 2 of tems correct
H H : 4 of items incorrect
Drillin g = rogram Assessment Submitted %o Score e B o —
# of items not atte’ o
1 In-Class Exercise 4A 0 > 0% I
50%
APHBREE 2 In-Class Exercise 4B 0 > + Measures, Shape and Space 100% .__-ﬂ——'-
e of angles of triangles-
3 In-Class Exercise 4C 0 5 541 Understand the properties of ang o7 E— .
o 5 iangles. “
- ties of isosceles triang!
s Fravciee D 0 > ﬁ 22 E N=k 1 :%E Eﬁ 5.4.2 Understand the properti
a ns.
_ " v E /IMIFE [ ml 4 the properties of angles of poiygo
5 Diagnostic Assessment 0 3 2.4.3 Understan
6 Diagnostic Assessment (Follow-Up Exercise) 0 >
e <Back Suggestion
2E=AY 7 After Class MCQ 0 > At
© e Clelinsuers _ mesue -
N 8of 15 S S Learning Materials
\ ¥\\\ o) ws_&eg_“@&'
In the figure, 45c i &
19 DEF are straight lines, 4c ; pr and BE = g, ®owtirzs00 | 4 Follow-up Exercises
# r ¢ o . [ perise®
em 1 =
| P < Dicied Nimbe i
= | - — RENIEENREEE,
%% AABC2A( ) e 21 :ﬁlect 1he type of operation - “ Learning Maf . > = ;
#2¥ e answerin e space Provided o= F ttem 5 f i s-Minute Lecture® 4718 A
and click the ‘Confirm byton ’ Exercises H_.,' {ﬁ ﬁ-l- ¥‘1 : & é *Z * ‘I’
Find the valye of Loy g © = [ Erercise 5 2
Y Baste 7 © Iz Frems 1E T
L z=x4y
72 x61 + Type of 0, i _
# ion: X+ 2= 1800 tem o orrect.
EEHR: 0 i i 7 8 9 + x X2 e 1 following statements is ¢
O Addition & Subtraction ¥ Ionly item 10 {tem PP— whether each of the
i uced.
g Multplication & Division land il oniy \n the figure, BA and CAare prod
Mi «
xed Operation 4 5 6 x I'and 11 oniy m

m—
S

Confirm

11and i oniy

e
N
1 2 3 - < > : . B A |

.
: ’ ' 1 % ° | ) s =3
gme: \
- ncorrect
correct to 3 decimaj places if nNecessary. | X : ) \

=180°
a+b+c=18
rrect v
Nb Correct Inco
lumt
°r of questions attempteq: { N —— d=a+bh rrect v
umber of correct answers; -t /\ABC Correct Inco!
~ e is an exterior angle of 3 -
i e
B - b Correct Inco
= AC,thena =pb-
- Incorrect
w correct v
Ifa =c,then AB=BC
Incorrect
correct ¥

fAB=BC= CA, thene = 60°.
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ns Distributi
= utio)
(B T——

tion [ 3=

D1
- R
eferring 10 the figure
€,

(@) an 4 2
angle bjge
: : ctor of A 4 B¢
(@ ) a median of A4BCY -
€ i 4
) an altitude of AURC &
"o
? 4so

) a
2 perpendi
pendicular bisector f
ot A4BC

owns
nd

Find the
€ unknow,
DOWnN(s) in each of th
he followir
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ns for Q1 —2, 4,10, 15, 17 and 26 arc as folly
lows:
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nine whether ea
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'rite the numbers in the appro; number, a negative number
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er | Negative number |
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T 5 B IER ~
29 L 7 2R
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© . meaning of dirceted pRIOBErS I
5.
about the sumber
ia

quan

For Q12 — 13 in
Softcopies of these ﬁ%ures arc
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Ay —99 +99

3

o numbers are & pait of
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? (Revi . rcise) NE EHkERHRIEE -
B EmEEIRR (Solving Guide) ?E?;l%ﬂ%&é%ﬁiaﬂi

@ AT

IRATAS B LU TR AR R DO -

A8 1
ERE = AT S - B PIETE L SR e B
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ER BT
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130 coins, which consists ©

50 cents coINs. Use an

37. Lucyhas
(a) Letxbe the number of the

value of the 50 cents coins.

cbraic expression (© represent the tot:

(b) Hence, use an alg al value of the coins
cket costs ST0 The expenditure of the

a concert Costs §125. while & student U

An adult ticket for
down the formula for
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1 student tickets. write
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